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QID : 201 - In the following question, select the related word from the given alternatives.
Car : Road : : Rail : ?

freafafEa vy § Ry 7y foredt 3 @ wefda e &t gHgl

HR:GSh::3:?

Options:

1) Water
STeT

2) Air
ag

3) Road
qs8h

4).Track
et
Correct Answer: Track

Candidate Answer: Track

QID : 202 - In the following question, select the related word from the given alternatives.
Light: Lumen::?:?

frafafed uer 8 Ry g e & & i e &t gl

TRTAT AT 1?1 ?

Options:

1) Temperature : Candela

qOHA ;&

2) Density : Kilogram

1 : fhettumm

3) Pressure : Pascal

&I : UT¥chel

4) Force : Meter

ol : iR

Correct Answer: Pressure : Pascal
Id : UT¥ehel

Candidate Answer: Pressure : Pascal
QId : UT¥ehel

QID : 203 - In the following question, select the related letters from the given alternatives.
BGMR : DIOT :: SNOV : ?

feafafEa uy § Ry 71g faeredt & € Gefa s1eri st gihgl

BGMR : DIOT :: SNOV : ?

Options:

1) UPXQ

2) QPUX

3) UMPW

4) UPQX
Correct Answer: UPQX
Candidate Answer: UPQX

QID : 204 - In the following question, select the related letters from the given alternatives.

j@gmdeup
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UVWX:YYYY::ABCD:?
FfafEa w8 Ry 71g faehedt & € Hefa s1eri st gl

UVWX:YYYY::ABCD:?

Options:
1) YYYY

2) EEEE
3) DDDD

4) FFFF
Correct Answer: EEEE
Candidate Answer: EEEE

QID : 205 - In the following question, select the related number from the given alternatives.
12:156::14:?

frfafea ue & Ry 1y foeredt & § wefda w9 &t gfg

12:156::14:7?

Options:
1) 195

2) 205
3) 208

4) 210
Correct Answer: 210
Candidate Answer: 210

QID : 206 - In the following question, select the related number from the given alternatives.
102:10404::104:7?

feafafEa vy 8 Ry 7y faeedt & @ efda g &t gl

102:10404::104:7?

Options:

1) 10202

2) 10404

3) 10804

4) 10816
Correct Answer: 10816
Candidate Answer: 10816

QID : 207 - In the following question, select the odd word from the given alternatives.

freafafEa w8 Ry 7y fodedt & @ o g &t gfg)

Options:
1) Lemon

2) Carrot
RIS

3) Beetroot

Fehex
4) Turnip
LAeTSTH

Correct Answer: Lemon

Candidate Answer: Lemon

QID : 208 - In the following question, select the odd word from the given alternatives.

frafafed mer A Ry g feredt 7 & o 2oz &6t gfg

Options:

1) Sentence
a1

2) Letter
3E&R



3) Word

RIEA

4) Paragraph
ATRIGUS

Correct Answer: Letter
78R

Candidate Answer: Paragraph
qIERETS

QID : 209 - In the following question, select the odd letters from the given alternatives.
et v A Ry g et & @ fvm srert ot gfgl

Options:

1) ADG

2) CFI

3) JMQ

4) SVY
Correct Answer: JMQ
Candidate Answer: JMQ

QID : 210 - In the following question, select the odd letters from the given alternatives.
FfafEa us Ry 71g faehedt & € fawm sreri at gi-g)

Options:

1) DWEV

2) HSIR
3) KPLO

4) PKQl
Correct Answer: PKQI
Candidate Answer: PKQI

QID : 211 - In the following question, select the odd number pair from the given
alternatives.

ffofed uy 7 oy 7 faeeat 7 & faww dwr g &t gl

Options:

1)17 -12
2)29 - 14
3)21-16
4) 31 - 26

Correct Answer: 29 — 14
Candidate Answer: 29 - 14

QID : 212 - In the following question, select the odd number pair from the given
alternatives.



fAfeRaa uw 7 fag 71 fAeredt | & faww S g ot gATl

Options:
1) 3 -27

2)7 - 49
3)5-125

4)6 - 216
Correct Answer: 7 — 49
Candidate Answer: 7 — 49

QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Mobile
2. Manage
3. Merger
4. Merged
5. Mango

ffeifed el ot Lregenter & 3114 aTet oA & IR forg |

1. Mobile
2. Manage
3. Merger
4. Merged
5. Mango

Options:
1) 25341
2) 25431
3) 24351

4) 54132
Correct Answer: 25431
Candidate Answer: 25431

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Strain
2. Strom



3. Stark
4. Stored
5. Stamp

fArfeiRaa 2reat ot eregentar & 1T aTet A & TR ford |

1. Strain
2. Strom
3. Stark

4. Stored
5. Stamp

Options:
1) 54312

2) 53421
3) 53412

4) 54321
Correct Answer: 53412
Candidate Answer: 53412

QID : 215 - A series is given with one term missing. Select the correct alternative from the
given ones that will complete the series.

AD, CE, EF, GG, ?

Qoh kA fear mar 8, foiad @ Ueh ue o 81 few 14 et & ¥ ag agt faeeu gfAy, STt S1IehH ot
ORT e |

AD, CE, EF, GG, ?
Options:

1)1

2) IH

3) HI

4) 1J
Correct Answer: IH
Candidate Answer: |H

QID : 216 - A series is given with one term missing. Select the correct alternative from the



given ones that will complete the series.
AZ, DY, IX,PW,?

Tk 3Iehd f&ar ma 8, fOaH @ Ues ug w81 feq 71 fashedl & 9 ag 9&l [acheu gfAT, St 3rehd ot
T R

AZ, DY, IX, PW, ?

Options:
1) YY

2) YV
3) WV

4) VV
Correct Answer: YV
Candidate Answer: YV

QID : 217 - In the following question, select the missing number from the given series.
7,10,14,19,25,?

fAfafed uy 7 oy 7 faeweut 7 & qw sie A1 HifSg

7,10,14,19,25,?

Options:

1) 32

2) 36

3) 38

4) 40
Correct Answer: 32
Candidate Answer: 32

QID : 218 - In the following question, select the missing number from the given series.
1,7,3,9,6,12,10,16, 15, ?

ffofed uy 7 &g g faeent 7 @ q s 71a FifSig



1,7,3,9,6,12,10,16, 15, ?

Options:
1) 18

2) 15
3) 20

4) 21
Correct Answer: 21
Candidate Answer: 21

QID : 219 - Mohini is taller than Nita but not shorter than Sarita. Sarita and Malini are of
same height. Mohini is shorter than Hema. Among them, who is the second tallest?

Aqifget, a1 @ @l § wg Rar @ BIE1 g1 81 IRar aum Arfert Yok TH owaTg hi g1 Jifg-, gar g
B¢ g1 38 I gl Gord vt hid 872

Options:

1) Mohini

mifgft

2) Nita

frar

3) Hema
T

4) Cannot be determined

1 81 fohaT ST gepdr

Correct Answer: Cannot be determined

1 81 fohaT ST gehdr

Candidate Answer: Mohini

mifet

QID : 220 - Present age of Saksham is one third of his father's present age. 5 years ago
Saksham's father's age was half the age of Saksham's grandfather. If Saksham's

grandfather will celebrate his ggth birthday after 3 years, then what is the present age (in
years) of Saksham?

GerA I addT S1g 31U T i g 3mg <l Ueh fagre 81 5 a9 gd g & fUdr &t omg ged &
aTeTStt ht 3y <t ammeft oft 1 afe Term o SrerSit 3rumT 88 af SwAfe 3 ayf ag HAR, at HarH i
gdaT g (ast H) forat 82

Options:

1) 18




2) 15
3) 16

4) 20
Correct Answer: 15
Candidate Answer: 15

QID : 221 - If 'P 3 Q' means 'P is daughter of Q','P 5 Q' means 'P is father of Q,'P 7 Q'
means 'P is mother of Q' and 'P 9 Q' means 'P is sister of Q', then how is J related to K in J
3LON305K?

g P3Q @ AF'PQA YA, P5Q wrarf'P Qe fuard,'P 7 Q o1 a1 ‘P, Q i AT 8
JAMPIQ HIAIT'PQHI SIS &, dJ3LIN305KHJ, KT fohg YR T 872
Options:

1) Mother

AT

2) Wife

Ll

3) Niece

SR

4) Daughter

Correct Answer: Niece

RIS
Candidate Answer: [ NOT ANSWERED |

QID : 222 - In the following question, select the word which cannot be formed using the
letters of the given word.

RIVALRIES

ffofed et & @ a8 e gAQ STt 3T 7Y 2165 & 31eRT &1 TINT @hch Ag! ST ST dahdl

RIVALRIES
Options:

1) RIVAL
2) RICE

3) SEAL



4) RISE
Correct Answer: RICE
Candidate Answer: RICE

QID : 223 - In the following question, select the word which cannot be formed using the
letters of the given word.

DICTIONARIES
ffeiRaa faeredt & @ ag 218 gAY STt 3T 1Y 21eg & 37eRT T TN hech gl ST ST FehdT|

DICTIONARIES
Options:
1) CATION

2) SITE
3) DICTATE

4) TIRED
Correct Answer: DICTATE
Candidate Answer: DICTATE

QID : 224 - In a certain code language, "he is game" is written as "@#*", "good game play"
is written as "$*&" and "play that hard" is written as "I$%". How is "good" written in that
code language?

U faf® anle 9T H, "he is game" &t "@#*" foia1 ST 8, "good game play” @&t "$*&" forar
STTdT g T "play that hard" @t "1$%" foRaT ST 81 39 ahis 9THT | "good" @ fohe TR ferar
SITQETT?

Options:

1) &

2) *
3)S
4) @

Correct Answer: &
Candidate Answer: &

QID : 225 - In a certain code language, "CAB" is written as "6" and "LEG" is written as "6".



How is "MAP" written in that code language?

Ueh fAfA® st orar &, "CAB" &t "6" foiRaT ST & a1 "LEG" @t "6" forar SiTar &1 39 o rer &
"MAP" &t fohT UehR feiRaT STTa?

Options:
1) 6

2) 4
3) 3

4) 8
Correct Answer: 3
Candidate Answer: 6

QID : 226 - If "+" denotes "subtracted from", "+" denotes "multiplied by", "-" denotes
"added to" and "x" denotes "divided by", then

19+2+2+2-14="?
i "+" o1 e "gerd” g, "+" 1 Y 'O 8, ' 1 HY "Site” @ aUT "x" ot A "y g, at

19+2+2+2-14="?
Options:

1) 52

2) 46

3) 48

4) 88

Correct Answer: 48
Candidate Answer: 48

QID : 227 - If "#" denotes "multiplied by", "@" denotes "subtracted from", "*" denotes
"added to" and "%" denotes "divided by", then which of the following equation must be
true?

i "#" 1 37 "TUTT" g, "@" T HY "gerd” g, "*" okl 7Y "FIS" g dAT "%" okl 7Y "WRT" B, Al
ffeafea & @ ot a1 geiteReor Tgt 82

Options:
1NN4%2#6*7=18

2)3#9@4#6=4

3)54#6%3@4=8



4)14%2*3#8=31
Correct Answer: 14 % 2 *3 # 8 = 31
Candidate Answer: 14 % 2 *3 # 8 = 31

QID:228-1f11#2@6=78and15#4 @ 8=152,then17#6 @7 ="?

11 #2@6=78aA15#4@8=1528, A 17#6 @7 ="?
Options:

1) 161

2) 143

3) 221

4) 157

Correct Answer: 161

Candidate Answer: [ NOT ANSWERED |

QID:229-1f2=0,5=1and8=4,then11="?

gfg2=0,5=1dar8=4g,al11="2
Options:

1)8

2)9

3)10

4) 6

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED |

QID : 230 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oreatoraa vy & fw or foeat # @ uw e
(?) & TUE W A arell T=qT H JAT|

3 6 5 10 F 14
72 18 120 | 30 ? 42




Options:
1) 84

2) 136
3) 144

4) 168

Correct Answer: 168

Candidate Answer: 168

QID : 231 -

In the following question, select the number which
can be placed at the sign of question mark (?7) from

the given alternatives.

foFaferiag e # for o foreut & 8wy e
(?) & TUT X A arell TEAT FH AT

5 [ 11 13 | 4 8
2 6 6 1 5
Options:
1)3
2)4
3)6
4)7

Correct Answer: 4

Candidate Answer: 4

QID : 232 -




How many friangles are there in the given figure?

& o st 3 e g &2
/< % | //\\__
Options:
1) 18
2) 20
3) 24
4) 28

Correct Answer: 24
Candidate Answer: 20

QID : 233 -

How many friangles are there in the given figure?

& g FplE A fraa Mege €2

A
ff
1.;;?!: e \\(_I’;
:’\{ '}\\\\

Options:
1) 12
2) 14
3) 16
4) 20

Correct Answer: 14
Candidate Answer: 14

QID : 234 - In each of the following question below are given some statements followed



by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

|. Some pens are pencils.
II. All pencils are erasers.
[ll. Some erasers are cups.

Conclusions:

|. Some pens are cups.

Il. Some pencils are cups.
[ll. Some cups are pencils.
IV. Some erasers are pens.

I T 74 uder U & 38 U 3R I 18 I YAl IR yTRd Fo fAseny feg 1y 8, gretifs
398 =T A1 a2 I fO¥=dr g Gandt g1 gt ey ug ofik iR RuiRa s fr Rumu ani= @

ARy, f&U Qg St & STYR R gihdTa g

hY-:

|. s O Ul €1
II. g4t Ufeef TR 81
IIl. & W AU &

e

|. $© U< U g|

|I. o Ui oy 8l

1. $ U Uit 81

IV. & TR U 8|

Options:

1) Only conclusion (II) follows
dhae fAshy (1) 98t 8

2) Only conclusion (IV) follows
dhae fAsey (IV) T8l 8

3) Only conclusion (1) follows
hae fend (1) w8t @

4) No conclusion follows

ohig ot Frenef @wgl 6t 8

Correct Answer: Only conclusion (IV) follows

hae smd (1IV) T8 8

Candidate Answer: Only conclusion (IV) follows

haer smd (1IV) T8l 8



QID : 235 - In each of the following question below are given some statements followed
by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
|. Some pens are cups.
Il. No cups are plates.

Conclusions:

|. Some pens are not plates.
II. All pens are plates.

[ll. Some plates are not pens.

2 oG 710 Uk U H 5 YA 3R I d1¢ 39 HYAl W YT e fshy fay 71 &, gretifen
399 =T 19 a) & fOFar 8 9ahdt g | It ey ud ofR ik RaiRa e foh Rw mu sl @
sy, f4U 1T Rt & YR R gihETd |

hyY-:
|. $® U U g |
|l. SIg &Y Wi T8I 81

Arsep:

|. D U &I T8l 81

II. 9ot 09 e 81

1. B® &I U9 =81 8|

Options:

1) Only conclusion (1) and (II) follow
haer sm (1) TuT ey (1) T8t &

2) Only conclusion (1) follows

haer fAsn (1) T8t 8

3) Only conclusion (Il) and (l11) follow
hae fApy (1) gt sy (11l) T8l 8
4) No conclusion follows

Ig off frser Tgt T8t 8

Correct Answer: Only conclusion (1) follows

hae ey (1) T8t 8

Candidate Answer: No conclusion follows

ahis ot Frenef @il 8t &

QID : 236 -



From the given options, which answer figure can be
formed by folding the figure given in the question?

Trafafa et & @ Fig o 397 ey
# & 78 3y F AsFT oS I W 2

Options:

1)
,/Oe YJ

2)

3)

4)
e C

Y BJ
Correct Answer:
~ R

G

Candidate Answer:
~ R

G




QID : 237 -

From the given options, which answer figure can be
formed by folding the figure given in the question?

et e F T P AT AR uxr A &

TE ITETT B AER TS o Wbl B2
A
B
|
D E
F
C

Options:

1)

< G
A F

2)

F




Correct Answer:
7 C

A F

Candidate Answer:
~ G

A F

QID : 238 -

In the given figure, which number represents houses
which are red and tall?

& o2 ampfa # FiF @ e 1WA aer gur
&S & & geEr g

Housef®X

v

/"'"“x 3

./“"'"l‘n\
Red! _’,f’/ 214\ 5 ,r’s”‘ \,  White/

¥ -+
et 1 |7/ \9| 1 0/ =g
8 S

=

Tall/eraar

Options:
1)7

2) 4
3)8

4) 11
Correct Answer: 4
Candidate Answer: 4

QID : 239 -



In the given figure, how many males shoes are not
of clothes?

2o gy o, qot & et o s B A6 B

/\
Cloth/@ust ——»/ \ g~
Males/ 18/23 L. 39 \]
ey '\ / Shoes/
/ 16 {"Jﬁ, ESl

Options:
1) 71

2) 39
3) 79

4) 23
Correct Answer: 39
Candidate Answer: 39

QID : 240 -

In the given figure, which number represents white
glass which is not cup?

& oé 3t #, e T 37 AT WiHe ofRN S U A
¢t Fraemard?

=

N
4 1 __/' N \\,‘_ Cup fFT
el
| N
\ 4 5 !
7 \,r“{i/; g [«— White/mhg

%
Glass/efram

Options:
1) 2

2)3



3)6

4)4
Correct Answer: 6
Candidate Answer: 6

QID : 241 -

Which answer figure will complete the pattern in the
guestion figure?

®id W 39 AEa uH Apia & ufaww & qu
FYafr?

Options:

1)

2)

3)

4)

Correct Answer:




Candidate Answer:

QID : 242 -

Which answer figure will complete the pattern in the
guestion figure?

BT W T HTHA T Hpid & UasT & Q@
FIIN?

Wi u¥

Options:

1)
L]

2)

3)

4)

AN

Correct Answer:

L

Candidate Answer:



L

QID : 243 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % I AP F T 3@ R HH A gow
w7 uy pla Bfea &

Z

Options:

1)

2)

sk

3)

4)

A4
JAN

Correct Answer:

Candidate Answer:



QID : 244 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 9% IR Hpladr # ¥ W W Hgla @ gaw
o & uy apfa Bfea &

Al

Options:

N

2)

A

3)

&

4)

Correct Answer:

Candidate Answer:



QID : 245 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

o & ua AEadl # @ 37gER Fee @
A=Y Dl IUT Tiokd & I I [pE 3L AP
s s game

Options:

1)
H

2)

3)

4)

Correct Answer:




Candidate Answer:

1

QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & ua gl # R 3qER aee @t
ABRT Ve TUT Wit & ag a5 FH 39K AP
= femg e

SNIEN|ES

Options:

2)

3

4

VI 17

Correct Answer:



>

Candidate Answer:

AN

QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg T IUT F AB @ WX @1 AT, A & T
IO Fpfaat # ¥ FlE o FeT Uy e A
79 ufafasa e

m 'Q

At B

Options:

1)




Correct Answer:

-./.'

Candidate Answer:

"/a ]

QID : 248 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afe ue gduT @ AB T@T UT @1 AW, & & T
TR Agaar # T ®la @ gy vy pla H
wer ufafesa gefr?

A B

Options:

1)

=

FANEN ")

4)



=
w—y z

m

Correct Answer:
2

M <J E
u

Candidate Answer:

]
MdE
4]

QID : 249 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two cdasses of alphabels as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘N’ can
be represented by 10, 41, efc , and *G’ can be represented by 56, 99, elc

Similarly, you have to identify the set for the word “CROW"

T e AN TH TEA-HHF GRT AT TR B, SRw 6 feedt & &
e v & e v ¥ Rwedl # Qe ow dwm-weE awewl F a gt
GRT geite e €, S B e aw @ wneyEl & R aneypd & wwew 3
ufeh @1 FEAT 0 § 4 § 3R wegedl 15§ 91 59 HgE W U HaW A
UFd 36 Gfth AR O F T AT GRT QT S Wehal €1 SgmT
& faw N- @ 10, 41, % grr guiar 51 @war & @0 "G* &1 56, 99,
e grr gyl o waar ¥ oS oave & wue uy & Ry uw
“CROW”™ & forw waE & ara=n B

Matrix-1 Matrix-ll

e gl
0[1[2]3]4 5(/6[7[8]9
0OJA|R|C|N|K S5|O|G[W|H|U
1|N|K|A|R|C 6|HIUO|G|W
2|RIC|N|K|A 7T|G|W(H|U|O
3|K|A|R|C|N 8(U|O|G|W|H
4 /C|N|K|JA|R 9|W|IH[U|O|G




Options:
1) 40,13, 56, 57

2) 14, 32, 68, 76
3) 21, 01, 86, 69

4) 02, 20,97, 88
Correct Answer: 21, 01, 86, 69
Candidate Answer: 21, 01, 86, 69

QID : 250 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the aliematives are
represented by two dasses of alphabets as shown in the given two
matirices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 12, 24, etc, and ‘D’ can be represented by 65, 77, efc
Similarly, you have to identify the set for the word “IDLE".

TF Wec A UF WEA-HIAE wRT qutar IEm E St B et & &
el v & feam amm ¥ Reent # Ry aw gemraes wERT & 2 gt
&R g I §, Ster i e oaw g aregpt @ ¥ megpd & wew sl
ufth @ @EAT 0 A 4 & 3R gl B 5 & 91 T TR H TH HER A
e 30T Ufin 3R @ig F TOEw W& gRT I S @ ¥ SRR
& faw ‘Er @12, 24, N gRT guiar =7 |@6ar & @ ‘D F 65, 77,
g arr gatar o waar ¥ 5@ AT & Ue uww & B e “IDLE”
& o |eE 3 gEdEE o

Matrix-| Matrix-ll

K= gl
011 (2([3]4 516|7|8|9
OlE[T]|AJU]|O S(B|F|IL|D[H
1T|U[O|E[]|A 6|D|IH|B|F|L
2|1 |A|JU]JO|E T(FILID|IH|B
3[O[E|I[A]U 8|H|B|[F|L|D
4 |A[U[O|E]I 9|LID|H|B|F

Options:

1) 20, 65, 95, 43

2) 32,77, 56, 00



3) 44, 88, 68, 31

4) 01,96, 75, 43
Correct Answer: 20, 65, 95, 43
Candidate Answer: 20, 65, 95, 43

QID : 251 - Real estate comes under which sector?

3l Fufxy fohe &5 & Siaia 31T 87
Options:

1) Primary

urafie

2) Tertiary

3) Secondary

4) Both Secondary and Tertiary
et e g @t
Correct Answer: Tertiary

it

Candidate Answer: [ NOT ANSWERED |

QID : 252 - What is the full form of PMGSY?

0. vg. Sft. Tg. 918, o Srfar = U T 82
Options:

1) Pradhan Mantri Greh Sadak Yojana
JTTHAT T TS dtot-T

2) Pradhan Mantri Gaon Sadak Yojana
THAT Tid TSeh TSl

3) Pradhan Mantri Guarantee Sadak Yojana
TYTTHT TRET TSeh Aot

4) Pradhan Mantri Gram Sadak Yojana
TTHHAT TTH TSch ot

Correct Answer: Pradhan Mantri Gram Sadak Yojana

THAT U TS ghotT

Candidate Answer: Pradhan Mantri Gram Sadak Yojana

THAT U TS ghot-T

QID : 253 -



Match the following.

Teaerag o1 Fema i)

Organisation / Group Head Quarter
HEA | THE e )
1. IMF a. Geneva
2. WTO b. Washington D.C.
sEeq, o1 3 aifieres . @
3. ADB c. Kathmandu
o & & PISHATE
4. SAARC d. Philippines
TTH Rreid=g
Options:

1) 1-b, 2-a, 3-c, 4-d
2) 1-c, 2-a, 3-d, 4-b
3) 1-b, 2-c, 3-d, 4-a

4) 1-b, 2-a, 3-d, 4-c
Correct Answer: 1-b, 2-a, 3-d, 4-c
Candidate Answer: 1-b, 2-a, 3-d, 4-c

QID : 254 - Which Five Year Plan had a motive of 'Faster, More inclusive and Sustainable
growth'?

forg daadffg aisrAT o1 I ', 31fdes gamaRft duT ayRoftT faswrg' ar?
Options:

1) Tenth

cadt

2) Twelfth

IRgdl

3) Seventh
gradi

4) Eleventh
IRgd!
Corre_ct Answer: Twelfth

CIEEEI
Candidate Answer: [ NOT ANSWERED ]



QID : 255 - How many Navratnas CPSEs (Central Public Sector Enterprises) are there in
India?
YRA H foha-il . M.09.3. (T qrdsii-e &5 ITH) TR chu-dal g?

Options:
1) 16

2)17
3) 18

4) 21
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED |

QID : 256 - In which country political theory of 'Fascism' started?

fohg o1 & 'thrtare’ o It Rigid Y% gom?
Options:

1) Japan

NILIG

2) Russia

Y

3) Italy

4) China
EIE|

Correct Answer: Italy

ELGl

Candidate Answer: Italy

ELGl

QID : 257 - Who among the following supports customary rights?

fAmfofed # & o9 UAmTd S 1 GAU odr 8?
Options:

1) Ritchie

Rt

22 Locke

dich

3) Plato



it
4) Heller
RN

Correct Answer: Ritchie

fft

Candidate Answer: Plato

wiel

QID : 258 - Which of the following statement(s) is/are CORRECT?

l. In federal government, power is distributed among the legislature, executive and
judiciary.

Il. Due to political competition in a democracy, social divisions get reflected in politics.
[ll. Communal politics is based on the belief that one religion is superior to that of others.

fFfafed d @ o 91/8 sy 98l 8/82

|. 9eftg GRepR #, S1fdenR fauTHed, srdepR) 9T =Iaas | faaikd gidl 81

1. IoTAfdeh WeT & hRUT dAlehad B, TSI f[ayTeT eIt § ufafsfad glar gl
|11, grreTieh AsTiTd, fohet Uep e apt o1t  dgax AT OR SMeiRd gl
Options:

1) land I

| T

2) 1,11 and Il
RIGEll

3) I and Ill
el

4) Il and Ill
IGeill

Correct Answer: |, Il and ll|
[, 11 qr i

Candidate Answer: [ NOT ANSWERED |

QID : 259 - Who among the following declares Financial Emergency in India?

fAfafa 7 & o9 vRa 7 fa<dia srardaTe aifvd ohedr 82
Options:
1) President

IEfd

2) Prime minister

UTTHAT

3) Central Council of Ministers



Fr w3l aRug
4) Supreme Court of India
YR ohl I=IdH =TT

Correct Answer: President

qeufd

A

Candidate Answer: President

qeufd

A

QID : 260 - Which among the following is also known as chief law officer of Government
of India?

fAfofed 7 § ford TR TRAR o1 7 1A GeATghR it gl SITdT 8?2

Options:

1) Chief Justice of India

WRd eh 7= =g

2) Comptroller and Auditor General

YRd & T—eh Td HgTeRaTusierh

3) Attorney General of India

YRd

4) Judge of Supreme Court of India
qdi<d Ty oh =grarefisr

Correct Answer: Attorney General of India
YRA o TgIIATE!

Candidate Answer: Attorney General of India

YR & AgFITIaTe

QID : 261 - What is the term of office of Chief Election Commissioner of India?

TR YATG 3TYh ohl hRIKIS fehd=t THI I gIdT 8?2
Options:

1) Five years

qid 9qrel

2) Six years

©g dlel

3) Five years or 60 years of age

gid 9TeT a1 60 el hl 39

4) Six years or 65 years of age

B¢ Tel AT 65 Tl bl 39

Correct Answer: Six years or 65 years of age
©g 9Tl IT 65 T hl I



Candidate Answer: Five years or 60 years of age
gid 9TeT AT 60 ITeT bl 39

QID : 262 - Lakshadweep's High Court is located in which state of India?

ALTEIY hl I=T T YR o fohg T F fRa 82
Options:
1) Tamil Nadu

dferg

2) Kerala
Ga|

3) Andhra Pradesh
T=8T T

4) Karnataka
Piceh

Correct Answer: Kerala

R

Candidate Answer: Tamil Nadu

dafaenTg

QID : 263 - Which among the following can be amended only by special majority in India?

fAfaRaa d & wRa # fohgent Gty faiy IgAd & gRT 8t fohar 511 erar 82
Options:

1) Admission of New State

T IS T TS

2) Salaries and allowances of Member of Parliament

GG o 951 & da- U7 9

3) Allowances of the President

IAfd & 9=

4) Ammendment of the Constitution via article 368

e 368 & ZRT A ot dMem

Correct Answer: Ammendment of the Constitution via article 368

TS 368 & gRT AfAET o1 TeMe

Candidate Answer: Admission of New State
T ST hl T3

QID : 264 - Who among of the following started Marathi fortnightly newspaper '‘Bahishkrit
Bharat'?

fAfeRaa & & 718 urfeéies TR U7 ‘afgspa YRa' forg= g fomam a1?



Options:

1) Dr. B. R. Ambedkar
&1, oft. 3R, e

2) Vir Savarkar

IR FraRa=

3) Vinobha Bhave
ICEIKIRNIC]

4) Lokmanya Tilak
AlRA fderd

Correct Answer: Dr. B. R. Ambedkar

ST &l 3R, e
Candidate Answer: [ NOT ANSWERED |

QID : 265 - Who among the following did not ruled the Delhi Sultanate?

fAafafea 7 9 g et HY Ieaqa wR w1 78 fomar ar?
Options:
1) Slave dynasty
eIt 2T
2) Syed dynasty
LR CACE])
3) Khilji dynasty
gs1
4) Ghori dynasty
TR g1

Correct Answer: Ghori dynasty

TRY g
Candidate Answer: Slave dynasty

eIt 2T

QID : 266 - Who among of the following was the Viceroy of India when Indian University
Act, 1904 was passed?

afefRa 7 @ yrda geifdenaa sifaffam, 1904 & uilRa 81 o SR R & aaR™ &= 24?2

Options:

1) Lord Dufferin
e ShRA

2) Lord Lansdowne
Al T~TSI3

3) Lord Minto

e faet

4) Lord Curzon




Jre chol

Correct Answer: Lord Curzon
S ot

Candidate Answer: Lord Minto

oe fHet

QID : 267 - Who among the following was also known as 'Zinda Pir?

fAefafaa d @ o 'Sier IR’ & a3 @ off S SIrar am?

Options:
1) Akbar
S{chelX

2) Jahangir
SN

3) Shahjahan
MESTE!

4) Aurangzeb
IR

Correct Answer: Aurangzeb

RN
Candidate Answer: [ NOT ANSWERED |

QID : 268 - 'Satyashodhak Samaj' was founded by whom?

'TIMETh GHTST chl WATYAT fchdch gRT hl 713 f}?
Options:

1) Mahatma Gandbhi

HgTeHT Tieht

2) Jyotirao Phule

I

3) Dr. B. R. Ambedkar
&1, ot 3R, srFslgax

4) Swami Vivekanand

@ fereentia

Correct Answer: Jyotirao Phule
SR Gt
Candidate Answer: [ NOT ANSWERED |

QID : 269 -



Match the following.

IGEGIEIECGICIRE:EIGEG I

Mountain Range / Continent/
udd HE@en TR
1. Himalayas a. South America
IESIEE ZiEToT AR
2. Andes b. North America
TeEiT A AT
3. Rocky c. Asia
T ofdrar
Options:

1)1-b2-3a3-c
2)1-c,2-33-b
3)1-c¢,2-b,3-a
4)1-a2-¢3-b

Correct Answer:1-c¢,2-3,3-b
Candidate Answer: 1 -c¢,2-a3,3-b

QID : 270 - On which of the following date, summer solstice is observed in Southern
Hemisphere?

fFfafea d @ frg fafd wR zfeoft Mard 7 divrenrer s/ &t 3ar SiTaT 82
Options:

1) 21st December

21 fegerR

2) 5th August

5 3T

3) 18th July

18 Selrs

4) 11th January
11 S

Correct Answer: 21st December

21 fegsR
Candidate Answer: 18th July

18 S[eTs

QID : 271 - Moraine is a kind of soil erosion that is caused by which of the following?



fgaTe (ARA) Teh UehRR T HaT 37URe ¢ St Amfeifaa # 9 forg o sror gidl 872
Options:

1) Glacier

fere

2) Wind

arg

3) River water

&Y pt Ut

4) Underground water
faTd arft

Correct Answer: Glacier

feag

Candidate Answer: Glacier

feag

QID : 272 - 'Sardar Sarovar Dam' is on which of the following rivers?

'TRER TR Fiy’ Aefafed 7 @ fhg g = 82
Options:
1) Krishna

hSUTT
2) Godavari

Terast

3) Narmada
THar

4) Mahanadi
BB

Correct Answer: Narmada

THeT
Candidate Answer: [ NOT ANSWERED |

QID : 273 - Which river of India has an Inland drainage?

YR <hl fohg 7<) a1 siadafia 511 Rerra &2

Options:
1) Tapi
ardt

2) Ganga
o]

3) Godavari
Treret



4) Luni
Sl

Correct Answer: Luni

el

Candidate Answer: [ NOT ANSWERED |

QID : 274 - Who among the following is known as 'Father of Biology'?

fAafofRea d 9 fd 'Sha i o1 S99 91 SttaT 82
Options:

1) Darwin

G

2) Aristotle

SRY

3) Heckle

Bohel

4) Edward Jenner

USds SR
Correct Answer: Aristotle
G‘Rﬁ

Candidate Answer: Darwin

SHCE]

QID : 275 - Which of the following is necessary for Blood clotting in humans?

fFafef@a & @ ol aFa @ T o1 et §9 & forg srfaerd 82
Options:

1) Vitamin A

[ECIEERY

2) Vitamin K

fderfma &

3) Vitamin C

foerfas <t

4) Vitamin E

CEIGEE

Correct Answer: Vitamin K

[EHIGEC

Candidate Answer: Vitamin K

[EEIGEED

QID : 276 - Which of the following human gland produces Insulin?



fAmfafed 7 & oo &t 1fY g=gfer st 82

Options:
1) Spleen
faeett

2) Liver
gopd

3) Pancreas
SIERMIY

4) Pituitary Gland

gy af=x

Correct Answer: Pancreas
SR

Candidate Answer: Pancreas
SR

QID : 277 - What is the normal blood pressure in human beings?

st H IhdATg AT fohd=T giar 82
Options:
1) 120/90

2) 120/80
3) 140/90

4) 140/100
Correct Answer: 120/80
Candidate Answer: 120/80

QID : 278 - Who among the following is known as 'Father of Genetics'?

fAmferfaa & 9 ford "sdfAeht &1 ST’ Sl SI1aT 82
Options:

1) Darwin

STfd

2) Mendel

Hed

3) Lamarck
SLIC)
4) De Vries
S diet




Cprrect Answer: Mendel

Hed

C_andidate Answer: Mendel

Hed

QID : 279 - Early blight is a common disease seen in which of the following?

3t gerar Ffeifaa & @ fohaent gas I A 82
Options:

1) Potato

STl

2) Ginger

3a<ch

3) Cabbage

et

4) Cauliflower

Toetiraft

Correct Answer: Potato

el

Candidate Answer: Potato

Stic]

QID : 280 - When an object is kept between two parallel plane mirrors then what is the
number of images formed?

STe fohelt 9% ohl & THHIAR THde GUUT o S 3@ ST1dT &, ot o+ §Q ufdfea i et fehdt ghfi?

Options:
1)1

2) 2
3)4

4) Infinite
3d

Correct Answer: Infinite
3 d

Candidate Answer: Infinite
3



QID : 281 - Friction can be reduced by which of the following?

l. Polishing surfaces
Il. Use of lubricants
lll. Decreasing area of contact

gyur fAEfafaa 7 O forad oa forar ST gahdr 82

|. I8l hl THRTRT

. fereaal & v @

1. TI=f o &Tthel hl hH hich
Options:

1) Only |

herd |

2) Only Il

had ||

3)Onlylandll
hadl | qAT I

4) All options are correct

gft faerea Tt € |

Correct Answer: Only | and I

haet | g7 I

Candidate Answer: Only |l
Gl

QID : 282 - When the speed of a moving object is halved, its

foRelt TreTclt g3 a¥g <hl Tl <ht ST ch TR IHhT gl
Options:

1) Kinetic energy becomes 1/4 of the original

TSt ol TR T 1/4 8 STt 8

2) Kinetic energy becomes 4 times the original

ST it URfHeR o1 4 AT 81 STt @

3) No change in the kinetic energy

TSt Fott & ahld aRad= gl gt @

4) Acceleration is doubled

IRUT AT g1 SI1dT 8

Correct Answer: Kinetic energy becomes 1/4 of the original

TTforsT Sott URfAeh T 1/4 gt SITdt &
Candidate Answer: [ NOT ANSWERED |




QID : 283 - The working principle of a mercury thermometer is

IR JAffR S A i Rgid 2l

Options:

1) Change in density of matter on heating
TRH A R Y&y & 9-7cd H Igal1d

2) Expansion of matter on heating

TRY e R Uery al fawdR

3) Thermal resistance of matter

geTef T AT Heifdd ufasty

4) Change in mass of matter on heating

TR &3 IR 1Y & g | dgara

Correct Answer: Expansion of matter on heating

TR A R UerY al fadR

Candidate Answer: Expansion of matter on heating

TRY & UR Ury & fawR

QID : 284 - What is storage size of commonly used floppy disks?

3MH IR TR IUANT <hl STH aTelt Tt STk ol T &THdT T it 87

Options:
1) 2.0 MB

2.0 THs!
2) 4.0 MB

4.0 Qs
3) 1.44 MB

1.44 THs
4) 2.44 MB

2.44 o)

Correct Answer: 1.44 MB
1.44 Tt
Candidate Answer: 1.44 MB

1.44 QO

QID : 285 - Which of the following is managed by operating system?

I. Memory
Il. Processor
[ll. Input/Output devices

fAafafea d 9 o uareq o3 gR1 coafed fhd Sa 82




. AERY

I TR

I1l. 379e/33eye fearsa
Options:

1) Only |

hard |

2) 1,11 and Il

[, I T il

3)land Il
| FaT I
4) Only Il
had Il

Correct Answer: |, Il and lll
[, 11 ar i

Candidate Answer: | and Il
| qaT Il

QID : 286 - Which of the following is used for ripening of fruits?

fAafaRea & 9 fhgent IuT tedl &l UehM o foru fopar STTrar 82

Options:
1) Methylene
Afdet=

2) Ethylene

3) Acetone

RIE]

4) Methane
fAga

Correct Answer: Ethylene

Candidate Answer: Ethylene

Qfrefi=

QID : 287 - What is the major component of Gobar Gas?

TieR T T UHE U T 87?

Options:
1) Propane



g
2) Butane

o

3) Methane
fAda

4) Ethylene

Correct Answer: Methane

A=

Candidate Answer: Methane

LOC]

QID : 288 - Rock Salt contains which mineral?

T Tk H hi T @it gidT 82

Options:
1) Gypsum
fSream

2) Sodium
gifeas

3) Potassium
LIEARIE L]
4) Magnesium
R
Correct Answer: Sodium

gifeay

Candidate Answer: Sodium

gifean

QID : 289 - Which of the following is not a transition metal?

fAfofed 7 9 ot g Gepdor urg A6 82
Options:

1) Actinium

Tfeefam

2) Bohrium

s

3) Osmium

ITSTHTH

4) Radium

Jeam




Correct Answer: Radium

deaq

Candidate Answer: Radium

deaq

QID : 290 - Which of the following is/are CORRECT?

fAfofed 7 @ oo ai/a 98t 8/8?

Options:

1) SPM - Suspended Particulate Matter

TY. 4t. gH - q83E uRfegeate AR

2) COD - Chemical Oxygen Demand

t. a1t St - Fffener Ao ferie

3) Both SPM - Suspended Particulate Matter and COD - Chemical Oxygen Demand
9. dt. gH - qSE URfepete A Ut . 3. St — hihd sticRfisH ferie at

4) None of these

378 4 lS T8l

Correct Answer: Both SPM — Suspended Particulate Matter and COD — Chemical Oxygen
Demand

9. 4. gH - qds URfegpete AR Ut 4. 3. St — hifchd StieRits feate at

Candidate Answer: Both SPM — Suspended Particulate Matter and COD — Chemical
Oxygen Demand

9. U1, T - G E URfegpalc Hex auT 4. 3. S — chitehd Hiaiior fSAie gt

QID : 291 - In which year 'Project Tiger' was launched?

'Tlae TR &l fohg Ty | 31ReT fohar mar or?
Options:
1) 1973
2) 1982
3) 1993
4) 1962

Correct Answer: 1973
Candidate Answer: 1973

QID : 292 - Which of the following is non-biodegradable?

l. Glass
[l. Cotton
[ll. Paper



fAfefed # @ o Saf-Hia (srifeddae) 78 82

|. <ftam

II. 38
1. STt
Options:
1) Only |
dhad |

2) land lll
| 1 1l

3) ll and 1l
[t i

4) 1,11 and Il
[, [T 1l

Correct Answer: Only |

had |

Candidate Answer: Only |
e |

QID : 293 - The agricultural ministry has unveiled 'A.P.M.C. Act 2017' which has defined
each state/UT as a

R HATera A 'Q.H.gA. ). st 2017 31 SrTaRT foha & STt g% I53/ha d AMRId T ot Teh
hI axg uRTva Fear 8|

Options:

1) Single unified market

Uehel HYh STSTR

2) Multiple unified markets

T HGh oI

3) Single diversified market

Uohd fafae IR

4) Multiple diversified Market
gt fafay sTeiR

Correct Answer: Single unified market
Yehdl TY<h JTSTR

Candidate Answer: [ NOT ANSWERED |

QID : 294 - Who amongst the following discovered 'electron'?

ffeifea 7 @ forgm 'saaei’ o srfasear forar ar?
Options:



1) Archimedes

JTchiHSST

2) Roald Amundsen
LTt ATHHA

3) J. J. Thomson
.S AT

4) Budo!f Diesel
ESIcth SIldl

Correct Answer: J. J. Thomson
S S QA

Candidate Answer: J. J. Thomson
S S JHEE

QID : 295 - 'Him Gold Cup' is related to which sport?

'fer Tes &y’ fohg W T G 82
Options:

1) Cricket

fohche

2) Boxing

3) Hockey

gleht

4) Volleyball
£ o

Correct Answer: Hockey
HED

Candidate Answer: Hockey

glehl

QID : 296 - Which of the following pair is incorrect?

fAmfafed 7 § oot a1 gm 98l =81 82
Options:

1) Sanjukta Panigarhil - Odissi Dance
YT aTforE — SnfeEt

2) Shiv kumar Sharma - Flute

frg HAR Al - TG

3) Raja Ravi Verma - Painter
7T 3f gaf - RFeRr

4) Ustad Vilayat Khan - Sitar



IdTe faeraa @t - fRaR
Correct Answer: Shiv kumar Sharma — Flute
frg HAR Al - TIgH

Candidate Answer: Shiv kumar Sharma - Flute

frg HAR Al - TG

QID : 297 - Which album received the 'Album of the year' award at the 59th Annual
Grammy Awards?

fohe Tered = 59 df a1ftien Uit REWAR THRIE # 'Tead STt & 391 U fohar?
Options:

1) 25

2) Lemonade

QLI
3) Purpose
qug

4) Views

T

Correct Answer: 25
Candidate Answer: Lemonade

CEIEK]

QID : 298 - 'Khullam Khulla' is an autobiography of which famous actor?

"GooH ool fohd Ufteg sifaar il st g2
Options:

1) Shatrughan Sinha

e &gt

2) Mithun Chakarborty

A TRl

3) Jeetendra

4) Rishi Kapoor

*N FYR

Correct Answer: Rishi Kapoor

*N FYR

Candidate Answer: [ NOT ANSWERED |

QID : 299 - India and Turkey have signed three agreements in the fields of ICT, training
and on May 1, 2017.




TR qUT Jehl A 3113 Y &1, uferor qor
gl

Options:

1) Trade

2211814

2) Culture

HEgpld

3) Education
fRre

4) Agriculture

& &= d 192 2017 oht A9 G IR g&aner fRd

Correct Answer: Culture

Hepld

Candidate Answer: Trade
MR

QID : 300 - New oil terminal to be built at Motihari in Bihar will supply fuel to )

fogR & AfAERY & I ST arelT =997 dof STgT &l dcT T&ITS hATT|
Options:

1) Myanmar

AR

2) Bhutan

]

3) China

SiC]

4) Nepal

aret

Correct Answer: Myanmar
AR

Candidate Answer: Nepal

Tura

QID : 301 -
Which value among 47, 311 and 21257 is the largest?

47, 311 gar 'P1257 A waw o gEar Ha G &2

Options:

1)



311

2)
i{’?

3)
57

4) All are equal
gt R &

Correct Answer:
311
Candidate Answer: [ NOT ANSWERED |

QID : 302 -
What is the value of

1. A 1 1 1 1

e . o 1 1 1 1
FOT &7

Options:
1) 18/5

2) 4/3
3)7/3

4) 33/10
Correct Answer: 33/10
Candidate Answer: [ NOT ANSWERED ]

QID : 303 - What is the value of (203 + 107)2 - (203 - 107)2?

(203 + 107)2 - (203 - 107)2 &l {4 &1 &7?

Options:
1) 85886

2) 86884



3) 43442

4) 87884
Correct Answer: 86884
Candidate Answer: [ NOT ANSWERED |

QID : 304 - If 46N is divisible by 18, then what is the value of N?

gfe 46N, 18 @ fawfSia gi<t &, at N o1 o = giem?
Options:

1) 2

2)4

3)7

4)8

Correct Answer: 8

Candidate Answer: 2

QID : 305 - Which is the smallest four digit number that is a perfect square?

TR 3ichi chl g i Tl g DI H&AT § Sl Yeh Ui a7 g2

Options:
1) 1024
2) 1048
3) 1021
4) 1089

Correct Answer: 1024
Candidate Answer: [ NOT ANSWERED |

QID : 306 - Aman and Raman together complete a piece of work in 30 days, Raman and
Manan can complete the same work in 36 days and Manan and Aman can complete the
same work in 45 days.All of the three working together can complete the work in how
many days?

A JUT IA AT Teh i opt 30 T H R1 e Hehd 8, T T 7= 341 il ot 36 et & g
R Gohd g SR A= 9T 39 IHT i aht 45 &A1 H Q1 o Gehd &1 i1 ety 39 o ol fohdA
& 7 o1 % Tahd 87

Options:

1) 12

2) 18

3) 24

4) 28

Correct Answer: 24




Candidate Answer: [ NOT ANSWERED |

QID : 307 - Two pipes A and B can fill a tank in 20 hours and 24 hours respectively. If the
two pipes opened at 5 in the morning, then at what time the pipe A should be closed to
completely fill the tank exactly at 5 in the evening?

&Y I A TUT B, Teh bl Sl hART: 20 AAT 24 €& H 9R Tehd 8| TS GH1 Acll ol JoIg o 5 Tof @i
& ST, dt 2\ Sk 5 ISt et Bl YT WA o g e A ol el &g @ T A8 Y?

Options:

1) 3 pm

3 RTIG

2) 2 pm

Correct Answer: 3 pm
3 WG
Candidate Answer: [ NOT ANSWERED ]

QID : 308 - The marked price of a cycle is Rs 36800. If 24% discount is given, then what
will be the selling price (in Rs) of the cycle?

Teh TTsfohel opT 3ifchd Hed 36800 %. &1 af 24% ! Be &t STY dt Trsfehet v fasha 7ea (3. #) &
ghm?

Options:

1) 26168

2) 27168

3) 27968

4) 28142
Correct Answer: 27968
Candidate Answer: 28142

QID : 309 - An article having marked price Rs 1800 is sold for Rs 1476. What is the
discount percentage?

Qeh a%] foigent Sifchd 7ed 1800 3. 8, &l 1476 3. | SI=IT SI1AT ¢ | P ehT Ufdd T 87
Options:



1) 14
2) 15
3) 16

4) 18
Correct Answer: 18
Candidate Answer: 18

QID : 310 - The ratio of two numbers is 5: 11. If both numbers are increased by 10, the
ratio becomes 7 : 13. What is the sum of the two numbers?

&Y TSt T S1gUTd 5 11 81 afe & gwersii & 10 &Y gieg &t S1g, ot 31gurd 7 : 13 81 a1 8
I T3t ot I T giT?

Options:

1) 80

2) 32

3) 48

4) 160

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED |

QID:311-1f 3P =5Q = 15R, then whatis P : Q : R?

gfe3P=5Q=15R g, a P:Q:R T gnm?

Options:

1)5:3:4

2)5:3:1

3)3:5:15

4)15:5:3

Correct Answer: 5:3:1

Candidate Answer: [ NOT ANSWERED |

QID : 312 - What is the average of the cubes of the first 13 natural numbers?

UUH 13 UTepldeh HaT3ti & -1 hl il om givft?

Options:
1) 196
2) 364
3) 485
4) 637




Correct Answer: 637
Candidate Answer: 637

QID : 313 - The average of 50 results was calculated as 30 but later it was found that
while calculating, 73 was taken as 33 by mistake, then what will be the correct average?

50 gRomHY a1 3tad 30 uRenferd foram mam a1 dfeha ae # ag udar I« foh et O uRepet & 9w
73 & geat 33 & forar mar o, at gt oitad am ghm?

Options:
1) 29.2
2) 30.8
3)31.6

4) 34
Correct Answer: 30.8
Candidate Answer: 30.8

QID:314-

By selling a table for Rs 2700 a man gets 10% loss,
and then at what price (in Rs) should he sell to gain

33 19,7
3

Th =Ofeh ol Tk A 2700 5. H o= uT 10% hr
g A AT A e fAEg @ F) @

mmmﬁ:mm%% & NH UIH P

Options:
1) 3000

2) 3300
3) 3600

4) 4000
Correct Answer: 4000
Candidate Answer: [ NOT ANSWERED |



QID : 315 - A trader sells two articles for Rs 14784 each. If he gains 12% on one and
losses 12% on other, then what is the value (in Rs) of the loss?

Qeh ATURY & e 37l ehl 14784 3 Ufd 9% o 1 WR d=ral 81 IS I8 Qe a¥g UR 12% o o1 e
ORI T WR 12% <kl g1 gl 8, af 11 <1 |1 (3 H) oRam ghm?

Options:

1) 300

2) 368

3) 432

4) 498

Correct Answer: 432

Candidate Answer: [ NOT ANSWERED |

QID : 316 - If the length of a rectangle is decreased by 20% and breadth is decreased by
40%, then what will be the percentage decrease in the area of the rectangle?

i Teh A ol o1 | 20% hl hHt i STt & TUT T1STs | 40% <ht T 6l STl 8, af 3mad &
A H feha- Ufasrd hl et gift?

Options:

1) 48

2) 52
3) 60
4) 40

Correct Answer: 52
Candidate Answer: [ NOT ANSWERED |

QID : 317 - If the radius of sphere is decreased by 10%, then by what percent volume of
sphere will decrease?

Uah T} <hl Fsar & 10% <ht it <hl STt 8, df 7Tt o 3maaq & foras afasra &y st ghfi?
Options:

1) 30

2) 27.1

3)29.3

4) 28.5

Correct Answer: 27.1

Candidate Answer: [ NOT ANSWERED |



QID : 318 - 45 pillars are standing in a line such that distance between any two
consecutive pillars is same. A car travelling with uniform speed of 72 km/h takes 18

seconds to reach from 15t pole to 10" pole. What is the distance between 10t and 315t
pole (in metres)?

45 @ Yo Hielt tfh A 39 UhR @e ¢ o ohls ot af shema @t & ot Y & ges 9HT9 81 Tk
&R 72 for. =t ufd ger i 1fd @ T R ugdd & 10 § @+ dk uga # 18 ks ot 81 10 & @
a1 31 d @ & ot i g (Hiex H) a1 gifi?

Options:

1) 800

2) 820

3) 840

4) 910

Correct Answer: 840

Candidate Answer: [ NOT ANSWERED |

QID : 319 - Two trains are moving in the same direction at speed of 54 km/h and 92 km/h,
their lengths are 400 m and 360 m respectively. What is the time taken (in seconds) by
faster train to cross the slower train?

g Yermfear 54 fos =t ufa ger qur 92 for. =Y. ufa ger &t nfa @ gum feen & =<t 8) & fS=h avars
ShART: 400 Hiex quT 360 Hex g1 avt 7T aTelt Terral et 71T areft TSt hl UR @A & o7 999
(Tehs ) oft?

Options:

1) 60

2) 72

3) 81

4) 90

Correct Answer: 72

Candidate Answer: [ NOT ANSWERED |

QID : 320 - What is the compound interest (in Rs) on Rs 2400 at the rate of 20% per
annum compounded yearly for 2 years?

2400 ¥. R q1ftes G gRT 20 ufaRrd ufd avf dht X @ 2 auf J e arer gehgfg et (T H)
T gh?

Options:
1) 960
2) 1024



3) 1056
4) 1120

Correct Answer: 1056
Candidate Answer: 1056

QID : 321 - An amount was lent for one year at the rate of 10% per annum compounding
annually had the compounding been done half yearly, the interest would have increased
by 80. What was the amount (in Rs) lent?

Teh YARIIRY oht aTftieh Tatsi WR 1 @y & forg 10 ufasrd ufdad aehgfe saret &t @3 @ IUR e mam
Tehdfeg TS o ariter g1 UR, sTST 80 %. 9¢ ST 81 SYR &1 773 ¢RI (3 H) =y ghft?
Options:

1) 16000

2) 32000

3) 48000
4) 64000

Correct Answer: 32000
Candidate Answer: [ NOT ANSWERED |

QID : 322 -

The line chart given below represents the sales (in '00) of
trousers and shirts for five months.

g e oiw ar o # U gur dE fr o= Fear
Fr fafr (00 #) @Y geifam T &

~*Trouser/ % B Shirt / Fler

80 1 70
] 65
0 & e

20 A 30

Sales (in "00) / fashY ("00 3
[ s3]
oo

January /February March/ April/  May/
Saall /wEll A e 7S

Month / #EAT

What is the difference between sales of shirts for months January and April?
SR} qUT U HelA | g3 kATl ol facht # fohaem sfar 872

Options:



1) 2700
2) 1500
3) 2000

4) 2200
Correct Answer: 1500
Candidate Answer: 1500

QID : 323 -

The line chart given below represents the sales (in '00) of
trousers and shirts for five months.

drr for o T o & Ue awr s fr o F@ar
Fr fafr (00 #) &Y geifar Tam &

~*Trouser /% ™ Shirt / FHT

804 70 65

40 34

20 4 30

Sales (in "00) / fashY ("00 31
(6} s3]
oo

January /February March/ April/  May/
Saall /wEll A e 7S

Month / #E1AT

What is the percentage increase in the sales of the trousers from January to February?

SHaR) § et § Gel & focht # feha ufdera &t sigia’l g5 872

Options:
1) 25

2) 20

3) 10



4) 28
Correct Answer: 25
Candidate Answer: 25

QID : 324 -

The line chart given below represents the sales (in ‘00) of
trousers and shirts for five months.

@ fom o Y oy # Ui awr wefer oo Feet
& feghr (00 #) @t geirar @ &

—*Trouser /% ™ Shirt / HHer

804 70 65

40 34

20 - 30

Sales (in '00) / fashY ("00 )
ol
oo

January /February March/ April/  May/
Saal /wEl A e ag

Month / #giaT

In March sale of trousers is what percent of sale of shirts?

A< # Uit h forcht aheiett eht faieht et fhaT ufdsrd 2

Options:

1) 83.33

2) 54.54

3) 125

4) 183.33

Correct Answer: 183.33

Candidate Answer: 183.33

QID : 325 -



The line chart given below represents the sales (in '00) of
trousers and shirts for five months.

drr for o T o & Ue awr s fr o F@ar
Fr fafr (00 #) &Y geifar Tam &

~*Trouser /% ™ Shirt / FHT
804 70O 65

1 40
40 - =

20 4 30

Sales (in "00) / fashY ("00 31
(6} s3]
oo

January /February March/ April/  May/
Saall /wEdl A e 7S

Month / #EAT

Total sale of shirts for five months is how much percent more than the total sale of
trousers for five months?

U< gl oh folg TSl bl forcht ot #giAT o forg det & fasht @ forat ufdsra sifdren 82

Options:
1) 30.84
2) 38.46
3) 44.61
4) 49.94
Correct Answer: 44.61

Candidate Answer: 44.61

QID : 326 - The ratio of curved surface area of two cones is 1 : 9 and the ratio of slant
height of the two cones is 3 : 1. What is the ratio of the radius of the two cones?

Y RISl & dch U8 oh &thell ST SIUTd 1 : 9 g dUT SIHT Qs <hl favet Serms vt srgura 3 : 1 21
ST Rt Y fAsar ot srguTa T &2

Options:

1)1:3

2)1:9
3)1:27

4)1:1



Correct Answer: 1:27
Candidate Answer: [ NOT ANSWERED |

QID : 327 - If the area of a square is 24, then what is the perimeter of the square?

gfe Tep aif o1 Fthel 24 §, at it Y aRfY e ghfi?

Options:
1) 2v6

2) 46
3) 16v6

4) 8V6
Correct Answer: 8v6
Candidate Answer: [ NOT ANSWERED |

QID : 328 - What is the total surface area (in cm?) of a cylinder having radius of base as 7
cm and height as 15 cm?

Teh Soi fSrgeh SR &Y frear 7 J.t. Jur a8 15 B.41. 8, &1 oot gty ethet (.52 ) e
ghm?

Options:

1) 814

2) 616

3) 968

4) 780

Correct Answer: 968

Candidate Answer: [ NOT ANSWERED |

QID : 329 - A cylindrical well of height 40 metres and radius 7 metres is dug in a field 56
metres long and 11 metres wide. The earth taken out is spread evenly on the field. What
is the increase in the level of the field?

56 Hiex aia g1 11 HieX IS Wa # Teh 40 Hier TS 1 7 Hiex Bt aret se=TehR U i @iar
17| $U I FReprett 75 [Ag ot @d # Ueh THM U @ a1 771 g1 Dd & Wk H fohaH! dgia’t gt
SITQT?

Options:

1) 12.5

2) 10.66
3)11.5




4) 13.33
Correct Answer: 13.33
Candidate Answer: [ NOT ANSWERED |

QID : 330 - A cuboid of sides 5cm, 10 cm and 20 cm are melted to form a new cube.
What is the ratio between the total surface area of the cuboid and that of the cube?

Qeh g1 fogehl od 5 @41, 10 @.H). 991 20 9.H1. 8, Tl fUgTeRR Teh 71 o= 41T S7T 81
YT 3R O ch YT &¥5hel chT eRIT SIUTd §ITT?

Options:

1)6:5

2)7:6

3)11:10

4)9:7

Correct Answer: 7 :6

Candidate Answer: [ NOT ANSWERED |

QID : 331 -
: 1 1
What is the value of {‘l—x':p‘q} L KW—PJ:|?
. SPP T AT FAT §7
1_xP=al " q_ yla=p) ;

Options:
10

2) 1
3) (x9-xP)/(x9 + xP)
4) (x9 + xP)/(x9 - xP)

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID : 332 -

If x2—3x +1 =0, then what is the value of x+%?

a2 -3x+1=0g, ar X+%EF[I|1F[ T B2

Options:



1)3
2)7
3)9

4) 11

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED |

QID:333-Ifa+b+c=-11,then what is the value of (a + 4)3 + (b + 5)3 + (c + 2)3- 3(a +
4)(b + 5)(c +2)?

giea+b+c=-11g @ (a+4)3+(b+5)3+(c+2)3-3(a+4)(b+5)(c+ 2) HI AT T gNM?

Options:
1) -1331

2) -121
3) 0

4) 1331
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED |

QID: 334 -
If f7x+12+~7x-12=3:./33 , then what is the
value of x?

T JTx+12+7x-12=3+./33 & ar x &r

AT FIT EET?

Options:
10

2) 1
3) 3
4)9

Correct Answer: 3



Candidate Answer: [ NOT ANSWERED |

QID : 335 - If x + (1/%) = 3v2, then what is the value of x° + (1/x°)?

gfe x + (1/x) = 3v2 &, @ x° + (1/x°) a1 A =1 grm?

Options:
1) 178v3
2) 789v2
3) 1581v2
4) 717V2

Correct Answer: 717v2
Candidate Answer: [ NOT ANSWERED |

QID : 336 - In APQR, a line parallel to side QR cuts the side PQ and PR at points M and N
respectively and point M divide PQ in the ratio of 1 : 2. If area of APQR is 360 cm?, then
what is the area (in cm?) of quadrilateral MNRQ?

APQR #, ¥STT QR & GHAMIAR Yeh @1, ST PQ qUT ¥STT PR ol shALT: farg M T N WR dred! 8
T famg M ST PQ &t 1 : 2 & 31uTd H died) &1 3 APQR a1 &5thet 360 1712 &, Y aqds
MNRQ T &57thet (§.#).2 ) faramm gim?

Options:

1) 160

2) 320

3) 120

4) 96

Correct Answer: 320

Candidate Answer: [ NOT ANSWERED ]

QID : 337 - ABC is an isosceles triangle such that AB=AC =30cm and BC=48cm. AD is
a median to base BC. What is the length (in cm) of AD?

ABC Ue THfgarg e & fS9d AB = AC = 30 @.#ft. quT BC = 48 9.+, &1 AD 3maR BC &
#fedat 81 AD o1 719 (3.1, ) /a1 87

Options:

1) 18

2) 20

3) 24

4) 32

Correct Answer: 18

Candidate Answer: [ NOT ANSWERED ]



QID : 338 - In AABC, £C = 54°, the perpendicular bisector of AB at D meets BC at E. If
ZEAC = 42°, then what is the value (in degrees) of ZABC?

fA9sT ABC H, £C = 54° 8, féig D & AB @1 GHfgwTSTeh ol BC ol foig E iR Aerar 81 afd LEAC =
42° g, dt £ ABC @1 7 (fSilt &) o givm?

Options:

1) 25

2) 42

3) 50

4) 60

Correct Answer: 42

Candidate Answer: [ NOT ANSWERED |

QID : 339 - In an isosceles triangle DEF, £D = 110°. If | is the incentre of the triangle, then
what is the value (in degrees) of ZEIF?

Qeh GAfgaTg st DEF &, £D = 110° g1 3fe | Bys1 o1 sid:ohest 8, @t L EIF o1 714 (&3t #) arm
87

Options:

1) 110

2) 130
3) 145

4) 155
Correct Answer: 145
Candidate Answer: [ NOT ANSWERED ]

QID : 340 -



In the following figure, O is the centre of the circle
and ~PRQ = 50°. What is the value (in degrees) of
ZPTQ?

&1 9 Hpfa H, O & &g & TW £LPRQ =50°
¥ ZPTQ &t @ (e ) am &2

R _- ‘_‘ﬁx.h
AR
.-f | \ // .\\ “\
I," Y "\I
2 I
| ." '\\ |
II'\. ./ - O .\ !
e - ¢
P“*Qaﬁ /i7'Q
e
Options:
1) 100
2)75
3) 130
4) 150

Correct Answer: 130
Candidate Answer: [ NOT ANSWERED |

QID : 341 - If 2cos2 0 - 1 = 0 and 8 is acute, then what is the value of (cot? 8 - tan? 8)?

e 2c0s2 6 - 1 = 0 AT B AHIUT &, A (cot? 6 - tan? B) T H T EIT?
Options:

10

2) 2

3) 10/3

4) 1

Correct Answer: 0

Candidate Answer: [ NOT ANSWERED |

QID : 342 -



If;=']

cosB+sech 2
B + sec’?g?

then what is the value of cos!%0

.1
I al cos’™ B +sec’™@@ @1
cosB+secB8 2 %

AT FT &7

Options:
10

2) 1
3) 2

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |

QID : 343 -
What is the simplified value of 1 + cot A co [ E

__r\JI :I::-

1+cotAcotL Jmnﬂﬁrmm%?

Options:

1)

(3

4) cos A

Correct Answer:



1 (A
—E0s5et | —
2 Lz

Candidate Answer: [ NOT ANSWERED |

QID : 344 -

If tan Lg J tan L%e] =1, then what is the value (in

deg reesj of 87

It t (6 287 :
alnLE tanLg_‘—‘l & ar e @ & (T )

T ¥

Options:
1) 45°

2) 90°
3) 100°

4) 120°
Correct Answer: 100°
Candidate Answer: [ NOT ANSWERED |

QID : 345 -
What is the simplified value of
3 8

Tt 5 —2cos?87?
cosec“ 8 1+tan<B

3 4 O .
cosec’8 1+tan’® s A o
T B

Options:

1)3

2) 4

3)5

4)7

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED |



QID : 346 -

The given pie chart shows the expenditure (in
degrees) incurred in making a book.

fer o @ =9 # 1P YEde d@e W few aw
= (Bl #) @ g

Others/
kel
15% Paper/

Capc)

25%

—

Binding/
ferecarsT Printing/

33% Haur
27%

If the total expenditure is Rs 60000, then what is the expenditure (in Rs) on the Printing?

gf& Pl =g 60000 <. 8, af qauT WR foham Tam =03 (2. H) T 82

Options:
1) 18400

2) 14800
3) 13400

4) 16200
Correct Answer: 16200

Candidate Answer: 16200

QID : 347 -



The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for om @ R A 1o gEae @@ W foew o
g (Bl &) & erifam mm §

Others/
HeT
15% Paper/

25%

Binding/
foregarsit Printing/

33% Havr
27%

What is the central angle (in degrees) of the sector made by the expenditure on Paper?

IS WR foh 7T o0 & &5 gIRT ST T a1 ahiv (T3t #) €2

Options:
1) 25

2) 75
3) 90

4) 120
Correct Answer: 90
Candidate Answer: 90

QID : 348 -



The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for om @ R A 1o gEae @@ W foew o
g (Bl &) & erifam mm §

Others/ ——
HeT
15% Paper/
HETT
25%
Binding/
foregarsit Printing/
33% Haur
27%

The expenditure on Binding is how much percent more than the expenditure on Paper?

Sieearsit IR fohar a7 aog srTsT )R fohu T8 e 9 fohd=m ufasra sifere 87

Options:
1) 32

2) 24.24
3) 28.18

4) 34
Correct Answer: 32
Candidate Answer: [ NOT ANSWERED ]

QID : 349 -



The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for om @ R A 1o gEae @@ W foew o
g (Bl &) & erifam mm §

Others/ ——
HeT
15% Paper/
HETT
25%
Binding/
foregarsit Printing/
33% Haur
27%

If expenditure on Paper is Rs 20000, then what is the expenditure (in Rs) on Binding?

gfe ShrTST WR fohar AT e 20000 %. 8, dt ®urs R fohar a1 &g (3. ®) Ra1 8?

Options:
1) 24600

2) 26400
3) 28000

4) 22800
Correct Answer: 26400
Candidate Answer: 28000

QID : 350 -



The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for om @ R A 1o gEae @@ W foew o
g (Bl &) & erifam mm §

Others/ ——
HeT
15% Paper/
HETT
25%
Binding/
foregarsit Printing/
33% Haur
27%

In Others there are only two types of expenditures viz. Marketing and Distribution in ratio
3 : 2 respectively. What will be the central angle (in degrees) made by the sector of
expenditure on Marketing?

3T H chael &l UhR o g g g7 faqur a1 faaor shast: 3 : 2 & rgurd 7 g1 fauor wr fohg g
Y & &5 h gRT 1T TT i hioT (F&3ft #) = givm?

Options:

1) 21.6

2) 32.4
3) 27

4) 36
Correct Answer: 32.4
Candidate Answer: [ NOT ANSWERED |

QID : 351 -

In the following question, some part of the sentence may have errors. Find out which part
of the sentence has an error and select the appropriate option. If a sentence is free from
error, select 'No Error'.

Not only her husband (1)/ but even her father (2)/ also find her selfish. (3)/ No Error (4)



Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID : 352 -

In the following question, some part of the sentence may have errors. Find out which part
of the sentence has an error and select the appropriate option. If a sentence is free from
error, select 'No Error'.

The West Indies team had (1)/ not won any match (2)/ last year. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 4

Candidate Answer: 4

QID : 353 -

In the following question, some part of the sentence may have errors. Find out which part
of the sentence has an error and select the appropriate option. If a sentence is free from
error, select 'No Error'.

If you inform me of Kanika's (1)/ arrival time | shall go to (2)/ attend her at the airport.
(3)/ No Error (4)

Options:
1) 1
2) 2
3)3
4) 4

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |



QID : 354 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Hardly had he come out of the (1)/ cinema hall then the
bomb exploded (2)/ and shattered the hall completely.
(3)/ No Error (4)

Options:

1) 1

2) 2

3)3

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 355 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Because copper prices are going down (1)/ demand for
alternative (2)/ products to copper are lessening. (3)/ No
Error (4)

Options:
1) 1
2)2
3)3



4) 4
Correct Answer: 3
Candidate Answer: 4

QID : 356 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

| agree ____ your proposal.
Options:

1) for

2) of

3) to

4) on

Correct Answer: to
Candidate Answer: for

QID : 357 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

As soon as he received the call the hospital, he left
the home.

Options:
1) off
2) with



3) from

4) at

Correct Answer: from
Candidate Answer: from

QID : 358 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

While travelling to Bangalore | ran
of mine.

Options:

1) across

2) up

3) against

4) into

Correct Answer: into

Candidate Answer: against

a very old friend

QID : 359 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

| will leave Australia before three months _____.
Options:
1) would have passed



2) would pass

3) have passed

4) will pass

Correct Answer: have passed
Candidate Answer: would pass

QID : 360 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Ever since Rashmi's parents died, her maternal
grandparents had all her needs.

Options:

1) seen off

2) seen through

3) seen to

4) seen by

Correct Answer: seen to

Candidate Answer: seen through

QID : 361 - In the following question, out of the four
alternatives, select the word similar in meaning to the
word given.

Welter
Options:
1) turmoil



2) laconic

3) difficult

4) vile

Correct Answer: turmoil
Candidate Answer: laconic

QID : 362 - In the following question, out of the four
alternatives, select the word similar in meaning to the
word given.

Decrepit
Options:
1) firm
2) fate
3) feeble
4) flee

Correct Answer: feeble
Candidate Answer: [ NOT ANSWERED |

QID : 363 - In the following question, out of the four
alternatives, select the word similar in meaning to the
word given.

Melancholy

Options:

1) thrifty

2) curious
3) sorrowful



4) chastity
Correct Answer: sorrowful
Candidate Answer: curious

QID : 364 - In the following question, out of the four
alternatives, select the word similar in meaning to the
word given.

Hysteria

Options:

1) ignorance

2) generous

3) madness

4) expensive

Correct Answer: madness
Candidate Answer: madness

QID : 365 - In the following question, out of the four
alternatives, select the word similar in meaning to the
word given.

Reticence

Options:

1) substitute
2) reserve
3) flatter
4) request



Correct Answer: reserve
Candidate Answer: [ NOT ANSWERED |

QID : 366 - In the following question, out of the four
alternatives, select the word opposite in meaning to the
word given.

Expurgate

Options:

1) slide

2) permit

3) decline

4) fall

Correct Answer: permit

Candidate Answer: [ NOT ANSWERED |

QID : 367 - In the following question, out of the four
alternatives, select the word opposite in meaning to the
word given.

Virtuous

Options:

1) sinful

2) disagreeable

3) equivocal

4) incredible

Correct Answer: sinful

Candidate Answer: disagreeable



QID : 368 - In the following question, out of the four
alternatives, select the word opposite in meaning to the
word given.

Wicked

Options:

1) cautious

2) anxious

3) doubtful

4) righteous

Correct Answer: righteous
Candidate Answer: righteous

QID : 369 - In the following question, out of the four
alternatives, select the word opposite in meaning to the
word given.

Chagrin
Options:

1) remorse
2) sniffle

3) famished
4) pleasure

Correct Answer: pleasure
Candidate Answer: [ NOT ANSWERED |



QID : 370 - In the following question, out of the four
alternatives, select the word opposite in meaning to the
word given.

Diabolical

Options:

1) lavish

2) ornate

3) wicked

4) moral

Correct Answer: moral

Candidate Answer: [ NOT ANSWERED |

QID : 371 - In the following question, out of the four
alternatives, select the alternative which best expresses
the meaning of the idiom/phrase.

Faint hearted
Options:

1) Calm

2) Timid

3) Lovable

4) Courageous

Correct Answer: Timid
Candidate Answer: Lovable

QID : 372 - In the following question, out of the four



alternatives, select the alternative which best expresses
the meaning of the idiom/phrase.

To lead astray

Options:

1) To take back what you have said

2) To misguide

3) To achieve two results with one effort
4) To apologize humbly

Correct Answer: To misguide
Candidate Answer: To misguide

QID : 373 - In the following question, out of the four
alternatives, select the alternative which best expresses
the meaning of the idiom/phrase.

To make a pile

Options:

1) To keep at a distance

2) To make a lot of money
3) To aggravate the situation
4) To face the risk

Correct Answer: To make a lot of money
Candidate Answer: To make a lot of money

QID : 374 - In the following question, out of the four
alternatives, select the alternative which best expresses
the meaning of the idiom/phrase.



Back out of
Options:

1) Decimate
2) Record
3) Withdraw
4) Pertain

Correct Answer: Withdraw
Candidate Answer: Withdraw

QID : 375 - In the following question, out of the four
alternatives, select the alternative which best expresses
the meaning of the idiom/phrase.

Throw over

Options:

1) Enumerate

2) Invent

3) Reprimand

4) Reject

Correct Answer: Reject

Candidate Answer: Reject

QID : 376 - Improve the bracketed part of the sentence.

She doesn't hesitate to do whatever her husband (does).
Options:



shall do
4) no improvement

Correct Answer: no improvement
Candidate Answer: did

QID : 377 - Improve the bracketed part of the sentence.

The teacher was angry (with) Rahul as he had not done
the homework.

Options:

1) from

2) at

3) on

4) no improvement

Correct Answer: no improvement

Candidate Answer: at

QID : 378 - Improve the bracketed part of the sentence.

Kunal has done nothing (from) yesterday.
Options:

1) since

2) through

3) after

4) no improvement

Correct Answer: since



Candidate Answer: since

QID : 379 - Improve the bracketed part of the sentence.

The boss has instructed all of us to finish the project by
tomorrow, (isn't it)?

Options:

1) didn't she?

2) hasn't she?

3) has she?

4) no improvement

Correct Answer: hasn't she?

Candidate Answer: didn't she?

QID : 380 - Improve the bracketed part of the sentence.

Garima has her meal at three, (when she has it), she goes
off to sleep.

Options:

1) when she will have it

2) when she has had it

3) when she will have had it

4) no improvement

Correct Answer: when she has had it
Candidate Answer: when she has had it

QID : 381 - In the following question, out of the four



alternatives, select the alternative which is the best
substitute of the phrase.

A person who starves the body for the good of the soul
Options:

1) pacifist

2) paranoia

3) ascetic

4) idiosyncrasy

Correct Answer: ascetic

Candidate Answer: ascetic

QID : 382 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

To make evasive or misleading statement
Options:

1) prevaricate

2) peroration
3) sophist

4) ineffable

Correct Answer: prevaricate
Candidate Answer: ineffable

QID : 383 - In the following question, out of the four
alternatives, select the alternative which is the best



substitute of the phrase.

A very delicate flaw or mistake which is not expected
from the person making it

Options:

1) sanguine

2) sacrament

3) solecism

4) sententious

Correct Answer: solecism
Candidate Answer: sanguine

QID : 384 - In the following question, out of the four
alternatives, select the alternative which is the best
substitute of the phrase.

The practice of taking exorbitant or excessive interest on
the money lent

Options:

1) emissary

2) usury

3) venal

4) macabre

Correct Answer: usury
Candidate Answer: usury

QID : 385 - In the following question, out of the four
alternatives, select the alternative which is the best



substitute of the phrase.

Sea with a group of many islands
Options:

1) archipelago

2) scullery

3) ablution

4) etiology

Correct Answer: archipelago
Candidate Answer: archipelago

QID : 386 - In the following question, four words are given
out of which one word is incorrectly spelt. Select the
incorrectly spelt word.

Options:

1) curriculum

2) couragious

3) collaborate

4) cylinder

Correct Answer: couragious

Candidate Answer: couragious

QID : 387 - In the following question, four words are given
out of which one word is incorrectly spelt. Select the
incorrectly spelt word.

Options:
1) deficiency
2) dictionary



3) diaphragm

4) diabeties

Correct Answer: diabeties
Candidate Answer: diabeties

QID : 388 - In the following question, four words are given
out of which one word is incorrectly spelt. Select the
incorrectly spelt word.

Options:

1) advertise

2) addiction

3) anniversory

4) amateur

Correct Answer: anniversory
Candidate Answer: amateur

QID : 389 - In the following question, four words are given
out of which one word is incorrectly spelt. Select the
incorrectly spelt word.

Options:

1) restaurant

2) rhinoceros

3) righteous

4) rehetorical

Correct Answer: rehetorical
Candidate Answer: rhinoceros



QID : 390 - In the following question, four words are given
out of which one word is incorrectly spelt. Select the
incorrectly spelt word.

Options:

1) successive

2) tomorrow

3) solemly

4) trespasser

Correct Answer: solemly
Candidate Answer: trespasser

QID : 391 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Broadly speaking, education aims to to objectives -
first, to train the student in such a way as to make his life
happy and _____, and secondly to provide him with ____
of various kinds. The knowledge imparted by education
embodies the immense _____ acquired by the human race
through ages. This knowledge, again, can be classified
under two heads-one, relating to the _____ or reasoning,
the other relating to the sphere of feeling.

Broadly speaking, education aims to two objectives

Options:
1) achieve



2) determine

3) regress

4) mark

Correct Answer: achieve

Candidate Answer: achieve

QID : 392 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Broadly speaking, education aims to to objectives -
first, to train the student in such a way as to make his life
happy and , and secondly to provide him with ____
of various kinds. The knowledge imparted by education
embodies the immense _____ acquired by the human race
through ages. This knowledge, again, can be classified
under two heads-one, relating to the _____ or reasoning,

the other relating to the sphere of feeling.

such a way as to make his life happy and
Options:

1) challenging

2) interesting

3) meaningful

4) boring

)

Correct Answer: meaningful
Candidate Answer: meaningful



QID : 393 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Broadly speaking, education aims to to objectives -
first, to train the student in such a way as to make his life
happy and , and secondly to provide him with ____
of various kinds. The knowledge imparted by education
embodies the immense acquired by the human race
through ages. This knowledge, again, can be classified
under two heads-one, relating to the _____ or reasoning,
the other relating to the sphere of feeling.

and secondly to provide him with of various kinds.
Options:

1) resources

2) power

3) knowledge

4) money

Correct Answer: knowledge

Candidate Answer: knowledge

QID : 394 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.



Broadly speaking, education aims to to objectives -
first, to train the student in such a way as to make his life
happy and , and secondly to provide him with ____
of various kinds. The knowledge imparted by education
embodies the immense acquired by the human race
through ages. This knowledge, again, can be classified
under two heads-one, relating to the _____ or reasoning,
the other relating to the sphere of feeling.

education embodies the immense _____ acquired by the
Options:

1) caliber

2) happiness

3) growth

4) experience

Correct Answer: experience

Candidate Answer: growth

QID : 395 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Broadly speaking, education aims to to objectives -
first, to train the student in such a way as to make his life
happy and , and secondly to provide him with ___
of various kinds. The knowledge imparted by education
embodies the immense _____ acquired by the human race




through ages. This knowledge, again, can be classified
under two heads-one, relating to the _____ or reasoning,
the other relating to the sphere of feeling.

classified under two heads-one, relatingtothe ___or
reasoning, the other

Options:

1) emotions

2) intellect

3) senses

4) strength

Correct Answer: intellect
Candidate Answer: intellect

QID : 396 - A passage is given with five questions
following it. Read the passage carefully and select the
best answer to each question out of the given four
alternatives.

Keeping employees happy, motivated, and on the payroll
is one of the key concerns to businesses these days
because it's an open market for top talent. A good
employee can walk out of the door today and have a
comparable or better job tomorrow. Which brings up a
very important question: what would the companies do to
keep away that person from even thinking about going to
work elsewhere? Gone are the days when the monthly
paycheck and two weeks' vacation a year were enough to
keep employees happy. Employers must come up with



irresistible incentives to keep top talent onboard. The
results of a recent survey by Fortune Magazine on why
people leave their jobs shows that 30 percent leave for
better compensation and benefits, 27 percent for a better
career opportunity, 27 percent for new experience, 21
percent are dissatisfied with opportunities at current job,
and 16 percent desire to change careers or industries.
Money is no longer the only major motivator. So, is this an
onsite daycare center for working parents? Paying for all
or part of their health insurance? Or offering educational
assistance or paying for certification? On an annual ski
trip, paid foreign tours, onsite car washes and oil
changes? Or free laundry and dry cleaning facilities? Or
prized stock options? Well it could be anything as long as
it can keep the employees motivated. There are perks
other than monetary gains or raise in pay package which
can make employees feel happy and satisfied and the feel
good factor.

According to the passage, what is not the key concern of
the businesses these days?

Options:

1) happiness of employees

2) motivating employees

3) keeping employees on payroll

4) criticizing the employees performance

Correct Answer: criticizing the employees performance
Candidate Answer: criticizing the employees performance



QID : 397 - A passage is given with five questions
following it. Read the passage carefully and select the
best answer to each question out of the given four
alternatives.

Keeping employees happy, motivated, and on the payroll
is one of the key concerns to businesses these days
because it's an open market for top talent. A good
employee can walk out of the door today and have a
comparable or better job tomorrow. Which brings up a
very important question: what would the companies do to
keep away that person from even thinking about going to
work elsewhere? Gone are the days when the monthly
paycheck and two weeks' vacation a year were enough to
keep employees happy. Employers must come up with
irresistible incentives to keep top talent onboard. The
results of a recent survey by Fortune Magazine on why
people leave their jobs shows that 30 percent leave for
better compensation and benefits, 27 percent for a better
career opportunity, 27 percent for new experience, 21
percent are dissatisfied with opportunities at current job,
and 16 percent desire to change careers or industries.
Money is no longer the only major motivator. So, is this an
onsite daycare center for working parents? Paying for all
or part of their health insurance? Or offering educational
assistance or paying for certification? On an annual ski
trip, paid foreign tours, onsite car washes and oil
changes? Or free laundry and dry cleaning facilities? Or



prized stock options? Well it could be anything as long as
it can keep the employees motivated. There are perks
other than monetary gains or raise in pay package which
can make employees feel happy and satisfied and the feel
good factor.

What does employers do to its employees now-a-days to
keep top talent onboard?

Options:

1) monthly pay check

2) irresistible incentives

3) two weeks' vacation a year

4) maternity leaves

Correct Answer: irresistible incentives
Candidate Answer: irresistible incentives

QID : 398 - A passage is given with five questions
following it. Read the passage carefully and select the
best answer to each question out of the given four
alternatives.

Keeping employees happy, motivated, and on the payroll
is one of the key concerns to businesses these days
because it's an open market for top talent. A good
employee can walk out of the door today and have a
comparable or better job tomorrow. Which brings up a
very important question: what would the companies do to
keep away that person from even thinking about going to
work elsewhere? Gone are the days when the monthly



paycheck and two weeks' vacation a year were enough to
keep employees happy. Employers must come up with
irresistible incentives to keep top talent onboard. The
results of a recent survey by Fortune Magazine on why
people leave their jobs shows that 30 percent leave for
better compensation and benefits, 27 percent for a better
career opportunity, 27 percent for new experience, 21
percent are dissatisfied with opportunities at current job,
and 16 percent desire to change careers or industries.
Money is no longer the only major motivator. So, is this an
onsite daycare center for working parents? Paying for all
or part of their health insurance? Or offering educational
assistance or paying for certification? On an annual ski
trip, paid foreign tours, onsite car washes and oil
changes? Or free laundry and dry cleaning facilities? Or
prized stock options? Well it could be anything as long as
it can keep the employees motivated. There are perks
other than monetary gains or raise in pay package which
can make employees feel happy and satisfied and the feel
good factor.

Which of the following reason is not being mentioned in
the passage in regard to people leaving their jobs?

Options:

1) family constraints especially after getting married
2) dissatisfaction with opportunities at current job
3) better compensation and benefits in new job

4) to have a new experience



Correct Answer: family constraints especially after
getting married

Candidate Answer: better compensation and benefits in
new job

QID : 399 - A passage is given with five questions
following it. Read the passage carefully and select the
best answer to each question out of the given four
alternatives.

Keeping employees happy, motivated, and on the payroll
is one of the key concerns to businesses these days
because it's an open market for top talent. A good
employee can walk out of the door today and have a
comparable or better job tomorrow. Which brings up a
very important question: what would the companies do to
keep away that person from even thinking about going to
work elsewhere? Gone are the days when the monthly
paycheck and two weeks' vacation a year were enough to
keep employees happy. Employers must come up with
irresistible incentives to keep top talent onboard. The
results of a recent survey by Fortune Magazine on why
people leave their jobs shows that 30 percent leave for
better compensation and benefits, 27 percent for a better
career opportunity, 27 percent for new experience, 21
percent are dissatisfied with opportunities at current job,
and 16 percent desire to change careers or industries.
Money is no longer the only major motivator. So, is this an
onsite daycare center for working parents? Paying for all



or part of their health insurance? Or offering educational
assistance or paying for certification? On an annual ski
trip, paid foreign tours, onsite car washes and oil
changes? Or free laundry and dry cleaning facilities? Or
prized stock options? Well it could be anything as long as
it can keep the employees motivated. There are perks
other than monetary gains or raise in pay package which
can make employees feel happy and satisfied and the feel
good factor.

What does feel good factor mean with respect to
employees?

Options:

1) monetary gains to employees

2) social acceptance

3) opportunity given to employees to work abroad
4) anything which can keep employees happy and
satisfied

Correct Answer: anything which can keep employees
happy and satisfied

Candidate Answer: monetary gains to employees

QID : 400 - A passage is given with five questions
following it. Read the passage carefully and select the
best answer to each question out of the given four
alternatives.

Keeping employees happy, motivated, and on the payroll



is one of the key concerns to businesses these days
because it's an open market for top talent. A good
employee can walk out of the door today and have a
comparable or better job tomorrow. Which brings up a
very important question: what would the companies do to
keep away that person from even thinking about going to
work elsewhere? Gone are the days when the monthly
paycheck and two weeks' vacation a year were enough to
keep employees happy. Employers must come up with
irresistible incentives to keep top talent onboard. The
results of a recent survey by Fortune Magazine on why
people leave their jobs shows that 30 percent leave for
better compensation and benefits, 27 percent for a better
career opportunity, 27 percent for new experience, 21
percent are dissatisfied with opportunities at current job,
and 16 percent desire to change careers or industries.
Money is no longer the only major motivator. So, is this an
onsite daycare center for working parents? Paying for all
or part of their health insurance? Or offering educational
assistance or paying for certification? On an annual ski
trip, paid foreign tours, onsite car washes and oil
changes? Or free laundry and dry cleaning facilities? Or
prized stock options? Well it could be anything as long as
it can keep the employees motivated. There are perks
other than monetary gains or raise in pay package which
can make employees feel happy and satisfied and the feel
good factor.

What can be the suitable title for the passage?



Options:

1) Incentives to employees

2) Money — a major motivator for employees
3) Giving employees a feel good factor

4) Challenges to keep employees onboard

Correct Answer: Giving employees a feel good factor

Candidate Answer: Money — a major motivator for
employees



